
Как перевести в СИ





2 см = 0,02 м


0,1 кДж = 0,1 ( 1000 Дж = 100 Дж


6 см3 = 6 ((0,01м)3 = 0,000 006 м3


4 км2 = 4 ( (1000м)2 = 4 000 000 м2


1 л = 1 дм3 = (0,1м)3 = 0,001 м3�5 л = 0,005 м3


1 мл = 0,001 л = 0,000 001 м3


36 км/ч = 36000м/3600с = 10м/с


1г = 0,001 кг; 1 мг = 0,000 001 кг





Множители и приставки





Гига	 	 Г  	1 000 000 000


Мега	  М 	 1 000 000


Кило	  к 	 1 000


Деци	  д	  0,1


санти 	с 	 0,01


милли 	м 	 0,001


микро	 мк 	0,000 001


нано	  н 	 0,000 000 001


пико  	п 	 0,000 000 000 001





Множители и приставки





гига  Г  109


мега  М  106


кило  к  103


деци  д  10-1


санти с  10-2


милли м  10-3


микро мк 10-6


нано  н  10-9


пико  п  10-12





Как перевести в СИ





2 см = 2 (10-2 м


0,1 МПа = 0,1 ( 106 Па = 105Па


6 см3 = 6 ((10-2м)3 = 6 (10-6 м3


4 км2 = 4 ( (103м)2 = 4 (106 м2


1 л = 1 дм3 = (10-1м)3 = 10-3 м3�5 л = 5 (10-3 м3


1 мл = 10-3 л = 10-6 м3


36 км/ч = 36000м/3600с = 10м/с


1г = 10-3кг; 1 мг = 10-6 кг








